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— = I Mzl AIE &= BHINE OHHILISl AEHA 2 67 .Choose the incorrect one in the following phonetic
A 7~ 1Tl o 60.3= 1Tk 100 .U
EDPNEIPZ!DSC;'ENM%'IX‘” 2A0LQIDH? figure code.
20053 JIAL 23] EIIAIE AAHHS Ao
005 A28l 2IIME 9. 0.5[n%] L 117108 Jb. 5 - PANTAFIVE Lt. 6 - SEESIX
= = = = — = = = . . . .
AAES & SS(EH=0N SSIAS | AEA THABE G 250 o a0 Ch. 7 - SETTESEVEN 2. 8 - OKTOEIGHT
SIS &I AL 1190 |2Al2F 30= A T '
¥ AEEZH K= €9t=2 20| BtE Al ME0t0 0F ELICH
. | . . o
M 4 2 : EAYN & DEX 2 68.Wt1at s the meaning of the under | ined part ?
| do not agree with your counting of words.
48.0+8 = sS4l 9149 SHO| ot 227 54.=AMES Rr, OHEHILIS £AMES Ro 2t ST OHEILS | will repeat the first letter or digit of each
2827 61.Choose the incorrect one for the duties of the ITU-R. word or group.
b, ot E UEES Al Jts
=0 HotddH ) =2° 2
Lt Z2HAS NSHAM &8 & 0lS MUIA HS _Rr+Ro ° L __fr N Jb. to study technical questions relating specifically b FA=el Hetd L. A==
b p= T XA000%] U = g RS X100 %] ~ ot SR EEIPSIYY 2. 2o S5
Ct. =D EXHl, 28H YL 2460t S4H2Y 22 0 to radio communication CTmT T AE S TmT eEe
2. MO eeho) st __Ro _Rr+Ro Lt. to study operating questions relating specifically
SR Rr+Ro x100[%] . 7 Ro x100[%] to radio communication
Ct. to issue recommendations on technical and operating 69 .Choose the translation into Korean.
49 .02 £ X (Loop) SHHILIS +EOLHO XSEFSHE2? N - 5 o (e - questions relating to radio communication "Members accept no responsibility towards users
55.014 Chol2 (dlpole) CHEILHOI A ﬁ/\uﬁ:’?—[d, [:oor 2. to study technical, operating and tariff questions of the international telecommunication service,
HL &3, CIOIE otHILtel Z0l, A @ IHE] relating to network system particularly as regards claims for damages."
It @ Lt. ”‘ ”\”‘ [ / 62.What is the main contents in the following sentence? b, 3= 2HEIISALERE 0|88ct= AP O
j. 212( 2 I_, 27( % .‘I > o ° H . _\_—|_|_—\ () O\_I:l_l_E_ o_ =] -
F 607{1(/1) (W] P 60”1(/1) (W] Coordinate efforts to eliminate harmful interference ot HMASXIK LXK SHS| =06 bHaoll CHoH
/ / between radio stations of different countries and Ne B2 KL
Ct. 80%212(7)2 (w] ct. 80%212(7) (W] improve the use made of the radio frequency spectrum." L. sl222 2FEIISAO 020 Hslo, =35l
Ct. ct @@ 2=l HH &40l %6%04; or2el Mg XXl %=L,
i Jt. Composition of the Union CH. 2MEIISAIO 0120 EHo} Mol T 3|4
56. 28 (EE)9 382 JALAIEe Y = HdotA %2 Lt. Purpose of the Union =g oty "é?Oil tiotoi= 1 &GHAl =0t
He9
= Ct. Structure of the Union . IHAIISAI2 0l X0 IZH6P0:| Eol =oliia =
50.2=0UlE CtHILIZ A & Tor =M6te 27 i Tl CHolod A2 Xe =2 il
ob XEA OHILIE AFESICH ct. Harmful interference
Jb. beverage CHHEILL L. E2SLZ(loop) CHHILE Lt =dld=5S SOtAIRILH 63 .Choose the procedure word which belong to the end of
5 _ Ch. =2 FW4E AIZStCH ;
Ct. <L" CHHILY ct. bellini-tosi CHHILL e _I_OFTL il work between two stations. 70.Choose the most suitable one to translate the
booBIEA QHEILE ArE St following sentence into English
B1.Sorizo) Ohet 4302 SX 2o 2e? ok ourt L. BREAK "THEHO BB =19 012001 0 ASUH PHSAS
- = se—= = Ee= A B7 & E=THUA =ItEs KIAHI =? Ch. ACKNOWLEDGE cl. OVER = Xlotet."
954, /\]—%—i—%}—i« 9t =2a= 99 =0 oF mHD Lb. CHRIBFAMDH 64 .Choose the one alphabet which would not be appropriate Jb. You must keep radio silence in this area unless you
A A T34 EFO ;IHHP E}' 5 7‘*1;} in the following phonetic alphabet. have message about the casualty.
Lb. AFEZ=040t dels9 LAHF=WSE0 =S ol A - = The syllables to be emphasized are under |ined. L. You have not to silence radiocommunication in this
4210 area except a message for the casualty.
C. XEMe TN ®elE 13 SAKIE DXl 58. MIIS Al (profile map)Ofl 28t HHO2 Xgotkl & Jbo 1 ... IN DEE AH Lk J ... JEW LEE ETT Ct. You have to keep radiocommunication silent in this
Helg Zetlt A2? Ct. K ... KEY LOH k. L ... LEE MAH area except in case of a message for the casualty.
k. dMelE2 01282 =0/ dlelstCt. 2k. You may keep radio silence in this area unless you
b, MIIEZ MUAM =TSO M= SMHE W 65 .Choose the right one for the blank. have to messages for the casualty.
ArZSHCH. "Is my transmission being interfered with top
5.2 &9 = E@ A2? L, MIOIE2s XMHO02 HASD condition ?"
) . ) O SoXT srEHas DM 12 Your transmission is being interfered with ( ). . '
b, =020 S22 MeaAl SEMEA0| HECH L _ 7T1.Select the best Korean version for the underlined
B ch. &AE2s ZEs Ao =30 XE SHHE0|CH . t
Lt DHENBEHO AFO=Z 2 & UL b sligntly Lt. excellent e
' s A Ol TiMe O = CH. extremely 2 some "Where the appropriate facilities are provided by
Ch. &858 + A= LE2 220 O =0 B0 MASIHS 0125l & NI2 OHUZ JIE mes ' ' the coast station, traffic may be exchanged with
ct. 2t DEOL H=26ke otLEe) XTSHIFEOl =RHEHTH ';9;02 = < TE= 66.Ch N ) N dor | ined f th the telex network in a store—and-forward mode
~= 'f (|)<|>se.t € same meaning to the underlined part of the where traffic is stored at the coast station until
) ? owing Sefntences . . . the circuit to the called station can be set up,
53.&c2lE BHAITIONAM H 15 24 E IS %0l F= Mes Ot JtAI2Iel (cassegrain) CHEILE What is the atmospheric pressure and its change * either automatically or under manual control."
=¥ LE. Ol ¥ =Z22d(equiangular) CHHILE
otH 5 2 5l 2
Ch. DHA A (path-length) OFEILE b JleEEE . Jl=sse o el gual Lt CH3H4 Al Al
_ - - = = | - _
PSS Lt E= Ch Fi3 2t = 2. Iet=eH(parabola) OHHILE L. sdsrs cf. BEHZ Ch. SXRIO Al 2t ERFS YA
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